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(i) F91 W= i ¥
(i) W ®9i® 6 ¥ 23 % ¥ i fawd & ™ ¥)
(i) 999 wF® 1 ¥ 5 d% 32 aEgiies Us €| Tad awgite 99T 1 of &1 21 [32x1=32]

(iv) s ®H% 6 ¥ 15 do wod 95T W 2 e Hdfed ¥ U YsT I ATH
30 st # iy
s HHE 16 T 19 9% e 9T 9T 3 3 AGEied 81 Wedeh W9H HT IAL AT
75 gttt | farEw )
s HaE 20 § 23 9@ Udd U9H IT 4 3k Ered 7| Tdd 9y ITHT WO
120 st=f 5 faf@u|

(vii) SmasTEaar @5 @i a3
Instructions :

)

(vi)

(i) All questions are compulsory.
(i) Internal options are given in question numbers 6 to 23.

(1) Question numbers 1 to 5 are 32 objective types questions. Each objective
question carries 1 mark. [32x1=32]

(iv) Question numbers 6 (0 15 each carries 2 marks. Answer these questions
approximately in 30 words cach.

(v) Question numbers 16 to 19 each carries 3 marks. Answer these questions
approximately in 75 words each.

vi ; :
) Question numbers 20 1o 23 each carries 4 marks. Answer these questions

.. apProximately in 120 words each
(vil) Draw neat and labelled diag .

rams wherever necessary.
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a8 fawe gaat fafag ¢ 1x7=7
() =6 ¥<w oven @ TegH HU T IAd @ Ad
T & W ¥ wEhed ®
(31) @ S fedr WY
@) &q Sara fea SQo
(@) frad Rro sacd fear S
() TIuURA daEe B
(1) dwid swifar g, e e @ -
(3) Fgra My & () @ & fgg @
(@) Suviedr & g9q & (@) Suged |l
(1IT) Susligar & Gqwe &1 SamFdl o fagewer semid 21
(&) TEEES SuEhEr W (@) A9 W

(@) ®mF-smy Uy () whHATEH IYLIRT 9T
(IV) #Wa SFAE (Py/ Py) &1 oW glad & &1

(37) TS @ (@) a9 "

@) @Ma @ @ (31 T (@) A
(V) v S Suain o @ ¥, @9 ga S

(31) W= @I T (@) e T

@ fer @ a3 (@ T FH E
(VI) 59 SEEd 2|

(ar) ferx @ @ (@) diEEeE ST B

(@) =T @ (@) it @
(VI)3faa, fasea gime

?ﬂ"q’ =

(31) @M - @ (@) omm™ + @I

@) o™ x W (8) emmM - «rld

Choose'and write the correct allernative : |
(1) Identify the central problem which deals with deciding the
quantity of goods to be produced.
(a) What to produce
(b) How to produce
(¢) For whom to pmduCe

(d) Production technologY L ‘
(1) The law of diminishing Marginal utility is the basis of :

(I_a-) Price determination (b) Law of demand
(05 C‘OHSUTHEF’_‘; ﬁl"'PIU"" (d) A“ UI‘ [hL‘ llhl)\f'L‘
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(1)) Indifference Curve (IC) analysis of consumer's equilibrium 18 based on:

(a) Cardinal utility (b) Demand and supply
(c) Income and price (d) Ordinal utility
(IV) Price ratio Py/ Py indicates the slope of
(a) budget line (b) budget set
(c) price line (d) (a) and (c) both
(V) When marginal utility is zero, then total utility is
(a) decreasing (b) increasing
(c) constant (d) multiplying
(V) Labour is an example of :
(a) A fixed factor (b) A variable factor
(c) demand (d) supply
(V1) Choose the correct alternative.
Profit =
(a) Revenue — Costs (b) Revenue + Costs

(¢) Revenue x Costs (d) Revenue + Costs

e i @ g A

1x6=6
(i) & & 7=n ¥ ghe @9 9 gid 2l
(ii) qﬁ’fﬁﬁﬁﬂaﬂﬂ& a?ngﬁfa%wﬂqﬁmmm(m)
gy g )
(i) _ & omerd wgeq @ fafy @ ¥
(V) 3O & ST g ama @ ey 3
(v) MW%WW__H_W@%W@HT%I
(vi) wmﬁmﬁwwﬁﬂa%;@ﬁ%l
Fill \in the blanks -
(1) Increase in taxation )

o . — Supply.
(i) Elasticity of supply refers to quantitative rel

. ationship between
and quantity supplied,

(1i1) . ‘
. ¢ unit cost of production is called

. The shape of avera
(Vlj The ﬁm] is a price

- —___In perfect c(;'-[_]__ otit
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1x6=6
(i) ®TeA @l A (Q
(i) N.N.P. (ii) G'ch_ﬂ rré’rf T (G
Gii) weres gra @ @ swarm (i) sife @l
(iv) 9a% EW1 el @ IuArT (iv) #egadl IEQ
(v) 9= (v) fafr i
(Vi) WRdE e (vi) = w0

Match the correct column :

1Al ‘B’

(i) Demand of factors (i) Leakages

(i) N.N.P. (ii) Gross National Product
(iii) Machine used by producer  (iii) Final goods

(iv) Wood used by carpenter (iv) Intermediate goods

(v) Saving (v) Mixed Economy

(vi) Indian Economy (vi) Inverse demand

(vit) Net National Product

4 g | 99 fafge 1x7=7
(i) GNP g UL F@ER )
(ii) g&1 9% &, W FAT B B B

(i) urE ¥ T8 T & fowh & aGUH SHE GEEA 4 aifie der 3
(iv) @y fafrea wonelt ¥ qed 1 AT WGH HfST Far )
(v) wma ol fafrdw wda auEr @9 ¥

(vi) T Sl e IuHer yga ¥ ST W€y swr ¥

(vii) gof T @ st stfedst ¥ g dhedy ¥

Write True OR False : https://www.mpboardonline.com

(i) GN.P. is a national concept.

(ii) Money is what money does.

(ii) Commodity value of a ten Tupee coin in India is more than its

money value.

(iv) Measurement of value Was very difficult in the barter system of
exchange. n of

(v) Saving and investment arf:i always equal.

vi) There is positive relationship bepw .

(vi) propensit; cen the multiplier ang marginal

(vii) Full employment implies there g zero U“eml')loymem -

the ¢conomy,
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5§ UH 9 ¥ gov fafeu _ 1%6=6
(j)ﬁamwﬁﬁamﬁﬂﬁwiﬁéﬁ%? ’
(ii) s o wght oft oivea sad wght & AT w g
(i) @ FT & A g e ww B gHM AR @ 9 & oS 2
(iv) o I B T fhE wer @l Al 8 7
(v) Wieaiis =17 @ TET HOgF R’ s 7
(vi) yaH gged ¥ fhm vt & @R nfie feq S €7
Write answer in one sentence :
(i) The functional relationship between saving and income is what called?
(i) What is the value of APC + APS?
(i) Name the tax burden of which lies on the person who pays it.
(iv) How to calculate revenue deficit?
(v)  What is the formula for calculation of primary deficit?
(vi) Balance of Payment (BOP) includes which types of transactions?

6 = @ Y faRad

Write the ‘meaning of demand.

sy [ OR
A B T W b oY faied |

Write the meaning of price elasticity of demand.

7 SEEA % A W e fated

Write any;two factors of production.

J sar /| OR
FEAM G & wiawd &1 ot fafad)

Write the meaning of decreasing return to scale.
8 wwita & ord fefadd 2
Write the meaning of Revenue.

syar [ OR
MW W HT oo fafad

Write the ‘meaning of Normal profit.

Al s @1 ardf ffad

Write the 'meaning of Macro Economics. 2

s wike | J9q [ OR

Explain an Economic agents

@ / 10759 A

5 JIII\IIIIIIII\I\IIIIII\IIIIIIHI[IIIHINHII ~
AU Im
https://www.mpboardonline.com



0 W ‘ l n tjon sz,nodS‘
ite the meaning of Consul pti = S.
rite the /

q;ﬁina a@aﬁ G?f {Tqﬂﬁa |

Explain the meaning of Capital

L ot e d of money.
Write the meaning of Demanm "oR

goods.

g‘ﬂﬂ?[ﬂﬁﬁﬁ?ﬁﬁ!@l

Write the meaning of Supply Of moncy.

12 fgfe & S|
Explain Demonetization.
sy | OR
g S29d B wEAd |

Explain. the Speculative motive.

13 97 W ow R 7 .
What is Aggregate demand?
' war [ OR
g9 gfd w B ?
What is Aggregate supply”?

14 ¥mid s9q wgfa (MPS) &1 e fafed
Write tlge, meaning of Marginal Propensity to Save.
@ | OR
rd Gq"-'i‘m uqﬁf & od fafedn
Write the meaning of Average Propensity to Consume (APC).

15 wart gge @ e ffad)
Write the, meaning of Government Budget.

@ | OR
W?ﬂumaé Sitcef!

Write the meaning of Revenuc Expenditure.

(3]

16 W9 IxEd §WEaT /& %7
What I§§ production possibility Irontier?

a4 | OR
wﬂm fagamyy q oNTE gy oWy ® 7

you understand by positive economics analysis”

T4
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17 SR Gged @l e s |
Explain market equilibrium.
sy | OR
mﬁaﬁw%ﬁwﬁaﬁ%wwgﬁmﬁwﬁﬁwmﬁﬁmﬁw
TeR Bl ¢ s aif)

Explain how price is determined in a perfectly competitive market with
fixed number of {irms.

18  “wyrel HU F &7
What is “effective demand™?

s | OR
frgerga & fadunma & e Sifagl
Explain ‘paradox of thrift"

19 gt sdforawn wWEw =@ @ G
ra i G
Why is the open economy autonomous expenditure multiplier smaller
than the closed economy one? https:/www.mpboardonline.com

sua /[ OR
ffre ox & fralto & @ O fig fafeg

Write any three points on determination of the Exchange Rate.

dg ydamawn & Y B A o

20 wH aEg # AT W fgEr #Y) 4 BUU B dWa T 39 9] @ 25 ganEdl
& T T W WY aRg B A 66T 5 T 81 Wi & qar aftomgeEsy
TG B A wEHT 20 gEEAT B A §| B @ @ T s
Consider the demand for a goods at price Rs. 4 the demand for the goods is
25 units. Suppose price of the goods increases to Rs. 5 and as a result the
demand for the goods falls to 20 units. Calculate the price elasticity.

. dyar | OR

U6 TR S & W, el daw o gused §adl 59 @i aw & o
T A W ymR ¥

gﬁﬂSidgr a market where are just two consumers and suppose their
¢mands for the goods are given as tollows :

LATATS ”
19 123
2 1 &8 |20
3 7 |8
4 6 16
5 5 14
6 141 12

Ecﬁl fom e afy & T i |

¢ ate the markey demand for th’ gnuds.
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2
21 W ST TH e SR wAd
1
-
0=512K? S
Let the production function of a firm be

1
0=512K? )
Prefie st dsnfaa frfa tges ST wd &7 gadt & 100 3591
L g 100 weal K gl . |
Find out the maximum possible output that the firm can produce with
100 units of L and 100 units of K.

sya | OR

I9 WU 06 &5 @ AT Bad & -

0=2I°K?
Let the production function of a firm be
Q=21°k"

st wTied il o @i, Rree e et st qadr S gzl
L 7 2 wawgdl K amnl sfusem wwiiie fefe @ &, Rresr o9 sares
& TEA ¥ A B L oaw 10 R K B

Find out the maximum possible output that the fi
S units of L and 2 units of K. What is the maxi
that the firm can produce with zero unit of [

v
22 el % o B PR ww
Write any four elements to determinate
: Jq4a /| OR
WM SUGadETT B e ¥ Ty &

What is profit maximization? Write

rm can produce with
mum possible output
and 10 units of K.

frl T a@f @1 el BT 4
of a firm supply curve.
st @B g
any three conditions of jp.
23 T % @ A st @) fafg) 4
Write any four functions of money,
wH | OR
aE ol % o difes G @ BH-E

: ! d I F 7
What are the instruments of monetary

policy of R.B.1.»
—I—'I-_,-.__-_
==
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